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Center of circle
Center of rotation
Center angle
Circular

Circular cylinder
Circumference
Common
Coimmon side
Common tangent
Condition
Conicoid

Conoid
Coordinate axis
Curve

Cylinder
Cylinderical

Cylinder coordinates

Cylinder surface
Cylindroid

Degree
Diagonal

Diagonal of polyhedron
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Diagonal of polygon
Diametre of a sphere
Diametre of circle
Diamond

Directed angle
Directed line
Direction

Domain

Domain of function
Double root

Double tangent

Ecenter

Ecircle

Element of area
Element of volume
Elevation

Ellipse

Ellipsoid

Elliptic conical surface
Elliptic cylinder
Elliptic paraboloid
Equation

Equation of line
Equation of a curve
Eugation of a plane
Equation of surface
Equilateral
Equilateral polygon
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Intercepts
Interval
Isoclines
Imaginary axis
Impossible sct
Imply

Length

Line

Linear combination
Linearly dependent
Linearly independent
Left — handed

Lowest sdimension

Major circle
Major axis
Minor axis
Method
Monotonic
Maximum
Maximum height

Nappe
Normal

Null vector
Negative
Nonempty set
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MNotation
MNormal cone

Number line

Oblique coordinates
One dimentional
Ordered pair
Ordered triple
Origine

Ordinate
Orthogonal
Osculating plane
Outer product
Ordinate

Parallel opiped
Parabola
Paraboloid

Period of a function
Parametric equation
Parallelogram
Perpendicular
Plane

Point of inflection
Polar coordinates
Polyzon

Principal

Principal axes

Principal diagonal
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Product Sl !

Position = .
Projection Lla) .
Pyramidal pA I§
Pyramidal surface A |
Q i
Quarangular Wl el f
Quadrant &0
Quadric surface A C-_Lu.d i
Quotient Ao ;
Quarter mary w=by |
R .
Ramphoid (e .
Radian Skl i
Radius hd Caal |
Range of a function Ul A e gana |
Rational numbers Anlal dlac Y ;
Real axis i ena i
Ruled surface Jouie mhas
Radical ' okl
Right-handed 5 jailie
Rotation ol
Reciprocal ~Se
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Scalar P
Scalar product PRARIALES .
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Subtitution

Sum

Solid cylinder
Solid

Spherical calcone
Spherical surface
Surface

Space

Spheie

Spherical coordinates
Sliding vector

Slope
Square roots

Tangent line
Translation of axes
Tranverse axis
Terminal point
Two-dimentional
Three dimentional

Unit vector

Uniform convergence
Unbounded

Vector
Verlex
Volume

‘Well-defined

Well ordering principle
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6- Dr. A.D. Kotasov, 1988: Matematics — Moscow.
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